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Yeven questions may be answered.
All questions carry equal marks.
Mathematical Tables may be obtained from the Superintendent.

1. (@) Multiply 5a*—3ab+-26* by 2a—3b.

(b) By how much does 9% —2a*—Ta-+4 exceed Ya®— 228118
—9 when a=—14 1!

2. Solve the equations :
(i) 3z—4(5—6x)=17;
(i) 12z+y=—1

Bz—2y="0.

8. Factorise :
(i) 2ab—2a—b+1;
(i) 2Az+1)@+2)+(@+6)(=—2).
4, Express in words the meaning of (i) 3a-4+5; (i) a—(O+e)d
(i) (1-+m) (1—m)=P—m*. i
Express by means of symbols :
(i) Four times & number exceeds another number by 3;
(i) the amount by which the product of two numbers oxceods
their sum.
(iii) £p per ton in pence per 1b.

5. Solve the equations :
(i) 82°—162—12=0;
(i) 3z —4)'—16(z—4)—12=0.
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6. A had 29 shillings more than B. If he gave B 4 shillings, A
would have twice as much as B. Find what each of them had,

7. Prove that a?—kx4-1 is a factor of 3a5—52% -k when =2
and when = —2.

9. A merchant mixed m owt. of tea costing @ shillings per cwt,
m cwt. costing b shillings per ewt. He sold the mixfure at ¢
ings per [b. Write down expressions to represent :

(i) the total cost price in shillings of the mixture ;
. (i) the selling price in shillings per cut. ;

| (iiii) the total selling price in shillings ;
- -(ivj his profit in shillings ;

(v) his percentage profit.




